Homework 8
SNU 4190.310, 2022 &
Kwangkeun Yi
Due: 6/10(5&), 24:00
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type system
7).

Exercise 1 (40pts) “SM5 RosettaX”
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* Dvnamic ki il
ynamic binary translation

* Runs existing apps!
® Transparent to users
* Lightweight

» Fast (enough)

Rosetta.
The most amazing software
you'll never see.
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rosettax: Smb.command -> Sonata.command
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Exercise 2 (80pts) “# A%} cHad M”
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(* example 1: polymorphic toys *)

let val I = fn x => x
val add = fn x => x.1 + x.1
val const = fn n => 10
in
I1I;
add(1, true) + add(2, "snu 310");
const 1 + const true + const "kwangkeun yi"

end

(* example 2: polymorphism with imperatives *)



let val £ = fn x => malloc x

in

[
h

10
"p1n

let val a
val b

]
h

val ¢ = f true

in

la + 1;

"hw7";

c := lc or false
end

end

(* example 3: polymorphic swap *)

let val swap =
fn order_pair =>
if (order_pair.1) (order_pair.2)
then (order_pair.2)
else (order_pair.2.2, order_pair.2.1)
in
swap(fn pair => pair.1 + 1 = pair.2, (1,2));
swap(fn pair => pair.l or pair.2, (true, false))

end

(*x S K I combinators *)
let val I = fn x => x
val K = fn x => fn y => x
val S = fn x => fn y => fn z => (x z) (y z)
in
S (K (SI)) (8 (KK I) 1 (fn x => x+1)

end



